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BEE&NT YA TRE

HEREARE AR TS EE R ES



DHEFEE

EAL HRELEABRCHARELRES

B x4 %P HEE GEAZID

BERE LUFHE MEETHE 183 -
<BEFHICLINEZ>
<URA>
SEIA 1,932,000 1,932,000 0
FHEUXA 1,000 1,000 0
BEREHDSIA 11,923,000 9,207,000 2,716,000
ZEEWA 78,707,000 75,044,000 3,663,000
BREERA 1,000,000 1,000,000 0
BEIRRA 967,000 1,152,000 A 185,000
NEERBREBERA 197,616,000 201,429,000 A 3,813,000
EERIUY—EREEZERA 913,000 778,000 135,000
SZHRASRAEIRA 12,000 12,000 0
ZOHDULA 1,229,000 963,000 266,000
BEEBRAG(D) 294,300,000 291,518,000 2,782,000
<ZH>
AGEEZH 150,646,000 155,783,000 A 5,137,000
BXEXH 62,340,000 60,029,000 2,311,000
EHREINH 73,494,000 70,425,000 3,069,000
FAESBERELE 541,000 340,000 201,000
BEitEExH 1,000,000 1,000,000 0
B & H 1,375,000 1,356,000 19,000
BEEXH 1,005,000 1,158,000 A 153,000
ZOD Xz 880,000 600,000 280,000
BEEEBXHE(2) 291,281,000 290,691,000 590,000
EXTHESNZERE@R)=>1)—(2) 3,019,000 827,000 2,192,000
<MBEREBHFICLLIME >
<URA>
HEHEEMEERA 0 0 0
MEER BB R EURAET (4) 0 0 0
<ZH>
BEE&EERFXH 0 0 0
T7AFT R —REBEHEOREZERZH 903,000 1,857,000 A 954,000
MEER R E X HET (5) 903,000 1,857,000 A 954,000
EEREEEESINTELE(6)=(4)—(5) A 903,000 A 1,857,000 954,000
<ZDHDFEIZ&BINZ >
<UZA>
B EERAIA 2,000,000 2,000,000 0
Y—ERAR D EREAEIA 7,279,000 3,324,000 3,955,000
ZOMDFEIRAG (7) 9,279,000 5,324,000 3,955,000
<ZH>
BUEEXH 4,008,000 2,694,000 1,314,000
Y—ERAR D HBAEIH 7,279,000 3,324,000 3,955,000
OO FEEZ HE(8) 11,287,000 6,018,000 5,269,000




EAG HREEE AR SR

DHEFEE

B x4 %P HEE GEAZID

BERE LUFHE MEETHE 183 -
ZOMDOFHESINZELE(9)=(7)—(8) A 2,008,000 A 694,000 A 1,314,000
FlEESIH (10) 0 0 0
LA LUK EEEAE (1) =(3) +(6) +(9) — (10) 108,000 A 1,724,000 1,832,000
AT RZINESES (12) 19,880,407 23,564,550 A 3,684,143
ZHRZINESEE(11)+(12) 19,988,407 21,840,550 A 1,852,143




THEEE BRIIINFEARE BRESHD

OFXRX%n HEBEUEE
HLA X 5
EERE ﬁ%gg%ﬁ R R aiteE e
<BEIHICLIWREZ>
<A >
SEUA 1,932,000 0 1,932,000
FHEIRA 1,000 0 1,000
BEREHHITIA 11,923,000 0 11,923,000
ZEEUA 78,707,000 0 78,707,000
BERERERA 1,000,000 0 1,000,000
EEIA 967,000 0 967,000
NERKREBRIA 56,244,000 141,372,000 197,616,000
EERUY—EREETZRA 913,000 0 913,000
SZHRASRAEIRA 11,000 1,000 12,000
ZDHDIXA 60,000 1,169,000 1,229,000
EEEHILAG(1) 151,758,000  142,542,000| 294,300,000
<ZH>
AEEXH 63,853,000 86,793,000( 150,646,000
EXEXH 37,645,000 24,695,000 62,340,000
EHEXMH 45,246,000 28,248,000 73,494,000
FIRE R BEREE 40,000 501,000 541,000
BEfEEXEH 1,000,000 0 1,000,000
B & X H 1,375,000 0 1,375,000
BiIEEXH 15,000 990,000 1,005,000
ZTDDZH 0 880,000 880,000
EXEHIHE(2) 149,174,000( 142,107,000 291,281,000
EXFTHELPNIELE(I)=01)—(2) 2,584,000 435,000 3,019,000
<MEREBHEFILINEZ>
<A >
MEEX B iEE MBS IRA 0
MEEX B R F AT (4) 0
<ZH>
EE & ERFX T 0 0 0
T7AF R —REFDRFLH 903,000 0 903,000
MEER B F X HiEH (5) 903,000 0 903,000
MEEREEEERINZELE(6)=(4)—(5) A 903,000 0 A 903,000
<ZDMDFENILBHINZ >
<A >
I EEIARIRA 2,000,000 2,000,000
Y—EXRSEBASIA 7,279,000 7,279,000
ZTDHDFBNIRAGT(7) 9,279,000 9,279,000




THEEE BRIIINFEARE BRESHD

OF%RX%H HE@UEE
EX R
BERE ﬁ%%g%ﬁ R &5t £
<IZH>
FENEEXH 2,300,000 1,708,000 4,008,000
P—ERRSERAETH 7,279,000 0 7,279,000
ZTOMDFEEIZ HET(8) 9,579,000 1,708,000 11,287,000
ZDMDEFENERINTZEEF(9)=(7)—(8) A 300,000 A 1,708,000 A 2,008,000
FliEEXZH(0) 0 0 0
LB SINTEEAE (1) =(3) +(6) +(9) — (10) 1,381,000 A 1,273,000 108,000
MEARZIEERERS (12) 18,241,398 1,639,009 19,880,407
LHRZIERERS (11)+(12) 19,622,398 366,009 19,988,407
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SHEEE B &2 WM X A8 9 F HEE
OFEXEHR HEEUESE
(OF 13 ={=% ) HICE# =1EtinES
OHY—EXRRX% ENEESEXE
BERE | “o7eeE (mEErEE|  #E =
<BEFHKBZUIE>
<URA>
SEIA 1,932,000 1,932,000 0
BAREIRA 1,182,000 1,182,000 0|—M%
GilzE=3-3I'UN 200,000 200,000 O|RI&E
BHSEIIRA 550,000 550,000 o|EmaE
T EIRA 1,000 1,000 0
BEZEFMEIA 1,000 1,000 0
BREZEMBEIA 10,106,000 7,248,000 2,858,000
TETFHH B URA 10,106,000 7,248,000 2,858,000
EHRANEEHBIEIA 10,106,000 7,248,000 2,858,000 BT A 4 & # BN &
ZEEEIA 6,247,000 4,788,000 1,459,000
TET#T ZEEEURA 3,628,000 3,479,000 149,000
NEEFIHZEEIA 1,928,000 1,849,000 79,000 (3L v
BUDDEVFHEEEZEEINA 63,000 63,000 O|FHEOLEM LRIV
BETIOYEZESINA 700,000 700,000 o|BmESIEEE
XAERREZEEIRA 864,000 794,000 70,000 xit = mmmEEEE
EEXEAFIRHERERZARNA 73,000 73,000 o|EEXRUNILMIE
EiRZERIA 2,619,000 1,309,000 1,310,000
EEELESZASINA 2618000  1,308000( 1,310,000 BRI ARH
AELEEEIXESEEZAEIA 1,000 1,000 0
BXRIRA 67,000 52,000 15,000
SMERA 67,000 52,000 15,000|(F A =25
SZEFIREHEINA 10,000 10,000 0
SZHF SR AEIRA 10,000 10,000 o|Fa
ZTDHDIRA 58,000 73,000 A 15,000
ZAHEEIRA 6,000 6,000 O|nExRETEZ AR
HUTA 52,000 67,000 A 15,000|@4 6%
EXRFHIAG(1) 18,421,000 14,104,000 4,317,000
<XZH>
AEEH 9,814,000 10,180,000, A 366,000
B B faH X 7,270,000 6,817,000 453,000 %%, EF Y
BMEEEXH 1,318,000 1,742,000 A 424,000 |#%-smFs, mFY
EERANEXZH 1,226,000 1,621,000 A 395,000 [#t2 R85, HEREH
BEXEXH 1,231,000 1,246,000 A 15,000
HERERMREXH 176,000 247,000 A 71,000| 0 oENEEE
RIEF T H 108,000 105,000 3,000 [ mmms. EmRRs




THeEE

BN XY 9 FHRE

OFEXEHR HEEUESE
(OF 13 ={=% ) HICE# =1EtinES
OHY—EXRRX% ENEESEXE
EERB LYFPHEE |EETELE 1R e
BEEMXH 551,000 527,000 24,000 |2t #5225 L—24%
HEEXH 276,000 221,000 55,000 (=@ HHES
M 120,000 146,000 A 26,000 s S HmBALE
EHREXM 4,010,000 3,526,000 484,000
BHELEEXH 235,000 234,000 1,000|f2%
WREBEX N 291,000 291,000 O|EmA#ES
THEHREX H 528,000 298,000 230,000|% & - HESHHESR
ERHEMREIE 387,000 367,000 20000 | EL£EHERLE
RIS A E 3T H 20,000 20,000 0
BEEXZH 30,000 30,000 O|EMmasEEs
BIEEREX N 234,000 234,000 0|B5E. BER
REBEXH 10,000 10,000 0
L& H 288,000 103,000 185,000 #8472 &Y %
EBRAEXH 1,205,000 1,172,000 33,000|FAZBEMETHE
FEHETH 148,000 143,000 5,000
HHRARXH 49,000 44,000 5,000|=mEEFHS
RFHRZH 176,000 175,000 1,000 B ks 27 LRSH
EHNETH 110,000 110,000 B
HEBXH 245,000 245,000 O|EHHRELES
M H 54,000 50,000 4,000
Bip &3 H 375,000 336,000 39,000
B S 375,000 336,000 39,000(% 2= 77 RAXHEIR
BEEXH 15,000 19,000 A 4,000
BiIBEH 15,000 19,000 A 4,000 155 A fEH
BETEXHE(2) 15,445,000 15,307,000 138,000
EXTEHESINIEZE(I)=>1)—(2) 2,976,000( A 1,203,000 4,179,000
<MBEREHHFICLDHINE>
<URA>
Z DD BEREFEICLHINA
MEEX B HEFIRAG (4)
<ZH>
MR B HEE X HE (5)
MR BFEEEEINZEE(6)=(4)—(5)
<ZFDMDEENZLDHINZ >
<URA>
H—EXR S HEEALIA 3,000,000 3,000,000 0
H—EXRSRBRASIRA 3000000/ 3,000,000 o[FUXIERINS




SHEEE B &2 WM X A8 9 F HEE
OFEXEHR HEEUESE
(OF 13 ={=% ) HICE# =1EtinES
OHY—EXRRX% ENEESEXE
EERB LYFPHEE |EETELE 1R e
T DD FBRAG (7) 3,000,000 3,000,000 0
<ZH>
HBiIEEXH 1,158,000 295,000 863,000
BEBAMEINEESH 158,000 295,000 A 137,000|RRIstE2BEmS3 I 4e
HIHEEREE I EESH 1,000,000 0 1,000,000
H—EXRSHEEASXZH 4,000,000 0 4,000,000
Y—EZARHERAE I H 4,000,000 0 4,000,000 (31 aitina =
ZTDMDFEEZHET(8) 5,158,000 295,000 4,863,000
ZTOMDFHESINZEEE(9)=(7)—(8) A 2,158,000 2,705,000f A 4,863,000
FliEESH (10) 0 0 0
LEERHUINKEESE(11)=(3) +(6) +(9) — (10) 818,000 1,502,000 A 684,000
ARV EE®TES (12) 8,121,123 6,082,267 2,038,856 AT ERME
LEIRIIERES (11)+(12) 8,939,123 7,584,267 1,354,856 | REERME




SHEEE B &2 WM X A8 9 F HEE
OFEXEHR HEEUESE
(OF 13 ={=% ) ==p:y e g b
OH—ERRESR HEZSEEFE
BERE | w78 (wEEvEE|  #E =
<BEFHKBZUIE>
<URA>
BREZEMBEIA 1,817,000 1,959,000 A 142,000
HRAELFESSILA 1,817,000 1,959,000 A 142,000
— BB EINA 1,117,000 1,259,000 A 142,000 | g4t E BB AL &
mEREZTTHVESEUIA 700,000 700,000 O|mEKBAE
BEFERIRAG(1) 1,817,000 1,959,000 A 142,000
<ZH>
BEXEXH 147,000 257,000 A 110,000
HERERMREXH 140,000 250,000 A 110,000|E#DOENELES
M H 7,000 7,000 0
EHREXMN 670,000 682,000 A 12,000
ERHEEREIE 113,000 113,000 0
BIEEREX N 88,000 90,000 A 2,000
L& H 189,000 199,000 A 10,000 |#8#1 &Y ENRIE
B E X H 250,000 250,000 O|cEBRE
HRBEXH 30,000 30,000 O|muzmmnsrmtans
BEEXH 1,000,000 1,020,000 A 20,000
e 1,000000( 1020000 A 20000(2%NAE KT
BETEXHE(2) 1,817,000 1,959,000 A 142,000
EXTEHESINIEZE(I)=>1)—(2) 0 0 0
<MEREBMEHFICLDINZ >
<URA>
TEER R FUIRAET (4) 0 0 0
<ZH>
MR B HEE X HE (5)
MR B HREERINEELE(6)=(4)—(5)
<ZFDMDEENZLDHINZ >
<URA>
Z DD EBUAET(7) 0 0 0
<ZH>
ZDHMDEBZHET(8) 0 0 0
ZDMDEBNEEUNZEEE(9)=(7)—(8) 0 0 0
FliEESH (10) 0 0 0
LEEHUINEKEESE(11)=(3) +(6) +(9) — (10) 0 0 0
ARV EE®TEZS (12) 0 0 0
ZEIRILERES (11)+(12) 0 0 0
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SH6EE FE 2N XL 0 FEE

OFEXEHR HEEUESE
(OF 13 ={=% ) HICE# =1EtinES
OHY—EXRRX% EEEIEEEFEE
BERE | w78 (wEEvEE|  #E =
<BEFHKBZUIE>
<URA >
ZEERULA 74,000 69,000 5,000
EHZESIA 74,000 69,000 5,000
HERIESRESIA 74,000 69,000 5000|2225 Baanzns b
EEFHIAG(1) 74,000 69,000 5,000
<ZH>
EHREXMN 74,000 69,000 5,000
ERHEREIE 20,000 15,000 5,000
BIEEREXH 14,000 14,000 O|EBEH
EBRAEXH 40,000 40,000 O|REZEREEFHE
BETEXHE(2) 74,000 69,000 5,000
EXTEHESINZEZE(I)=>1)—(2) 0 0 0
<MEREBMEHFICLDINZ >
<URA >
TEER R FEURAET (4) 0 0 0
<ZH>
MR B HEFE X HE (5)
AR HREERINEELE(6)=(4)—(5)
<ZDOMDEEIZ&HINZ >
<URA >
ZDHMDEBUAET(7) 0 0 0
<ZH>
ZDHMDEBZHET(8) 0 0 0
ZOMDFHESINKZELE(9)=(7)—(8) 0 0 0
FliEESH (10) 0 0 0
LEE UK EESE(11)=(3) +(6) +(9) — (10) 0 0 0
ARV EE®TES (12) 0 0 0
ZEIRILERES (11)+(12) 0 0 0
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SH6EE FE 2N XL 0 FEE

OFEXEHR HEEUESE
(OF 13 ={=% ) ==p:y e g b
OHY—EXRRX% BRUELEFERX
BERE | w78 (wEEvEE|  #E =
<BEFHKBZUIE>
<URA>
BREEERA 1,000,000 1,000,000 0
EEEIRA 1,000,000 1,000,000 0
s3I AN 1,000 1,000 0
A SR BEINA 1,000 1,000 o|FESFA
EEFHIAG(1) 1,001,000 1,001,000 0
<ZH>
BffEEXH 1,000,000 1,000,000 0
BftEXH 1,000,000 1,000,000 0
BETEXHE(2) 1,000,000 1,000,000 0
EXTEHESINIEZE(I)=>1)—(2) 1,000 1,000 0
<MBREHFICLDHINE>
<URA>
TEER R FURAET (4) 0 0 0
<ZH>
TEER R E X HET (B)
MR BFEEERINZEE(6)=(4)—(5)
<ZFDMDEENZLDHINZ >
<URA>
Z DD EBUAET(7) 0 0 0
<ZH>
ZTOMDFEBNZ HE(8) 0 0 0
ZDMDESNEEUNZEEE(9)=(7)—(8) 0 0 0
FliEESH (10) 0 0 0
LEEHUINETEESE(11)=(3)+(6) +(9) — (10) 1,000 1,000 0
ARV EE®TES (12) 395,288 665282| A 269,994|diFERHE
ZHRZILERES (11)+(12) 396,288 666,282| A 269,994|RFERME

12




SHEEE B &2 WM X A8 9 F HEE
OFEXEHR HEEUESE
(OF 13 ={=% ) HICE# =1EtinES
OHY—ERESH BEY—EXRT— 3>
BERE | w78 (wEEvEE|  #E =
<BEFENLDWMEZ>
<URA>
NHERREBERA 16,191,000 16,528,000 A 337,000
BENERUNA (T FEHBNUA) 10,266,000 10,467,000, A 201,000
rEEERBNIR A 8,254,000 7,767,000 487,000
N EEFBhFRENUR A 2,012,000 2,700,000 A 688,000
BEMERRA (FIREEIESIA) 1,329,000 1,051,000 278,000
NEEHEERA(LE) 10,000 10,000 0
NEAERIRA (—#) 928,000 770,000 158,000
NEFHEEBEENRA(LE) 1,000 1,000 0
NEEFHEIEBEEIA (—H) 390,000 270,000 120,000
FAEER ARIA 12,000 92,000 A 80,000
Z DD F AR A 12,000 92,000 A 80,000 (% 1&:E % I %
ZTDMDEZEIA 4,584,000 4,918,000 A 334,000
FHENEEEIA 4,492,000 4,776,000 A 284,000 |ET#BN%&
SZHEBEFIRA 92,000 142,000 A 5000025 EHMMEINE
BEFERIRAG(1) 16,191,000 16,528,000 A 337,000
<ZH>
AEEZH 13,677,000 13,784,000 A 107,000
i B e 7,528,000 8,032,000] A 504,000[#%. HFL%
BEESXH 2,302,000 2,021,000 281,000 [#i%K - i F 4
FEEHBEIRE 2,079,000 1,939,000 140,000(/A—MEEES
EERAEXH 1,768,000 1,792,000 A 24,000 |2 RBE. HBRRE
EEXEXH 1,421,000 1,627,000 A 206,000
NEAREXH 75,000 75,000 0
RIEF 2 H 47,000 34,000 13,000 |=m- SxammEEams
BEfEMZH 784,000 1,049,000 A 265,000|=fmY—R%
BHEREH 515,000 469,000 46,000 | EMmHEHES. HERE
EREXMWH 501,000 480,000 21,000
BEIEEEXEN 94,000 89,000 5,000 |@2%
B B AR E 25,000 30,000 A 5,000
THEMRE 30,000 51,000 A 21,000|HEE
EBHEREH 90,000 83,000 7,000
BIEEREX N 65,000 65,000 OB - EEH
FHEHZH 135,000 118,000 17,000 [remmunsreFans
AHRARXH 38,000 20,000 18,000| EmEEF %
HeEXH 24,000 24,000 0 [rk—s~n—pmassn
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SH6EE FE 2N XL 0 FEE

OFEXEHR HEEUESE
(OF 13 ={=% ) HICE# =1EtinES
OHY—ERESH BEY—EXRT— 3>
EERB LYFHEE MEETESE 1R e
FREREREE 10,000 10,000 0
FAERERZRREEE 10,000 10,000 0 [t ez Arme anes
BETEXHE(2) 15,609,000 15,901,000 A 292,000
EXTEHESINZEZE(I)=>1)—(2) 582,000 627,000 A 45,000
<MEEREBMWEHICLDINZ >
<URA>
TEER R FEURAET (4) 0 0 0
<ZH>
MR B HEFE X HE (5)
AR HREERINEELE(6)=(4)—(5)
<ZFDMDEENZLDHINZ >
<URA>
ZDHMDEBUAET(7) 0 0 0
<ZH>
HBiIEEXH 303,000 303,000 0
REBIR I A EERH 303,000 303,000 0| EmstEaBEmes ue
H—EXRDHERASXZH 279,000 324,000 A 45,000
H—ERARHREBRAEZH 279,000 324,000 A 45,000 PR EABRER
ZTDMDFEEZHET(8) 582,000 627,000 A 45,000
ZDMDESHNEEUNZZEEE(9)=(7)—(8) A 582,000, A 627,000 45,000
FliEESH (10) 0 0 0
LEIE UK EESE(11)=(3) + (6) +(9) — (10) 0 0 0
ARV EE®TEZS (12) 0 0 0
LEIRILNERES (11)+(12) 0 0 0
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SHEEE B &2 WM X A8 9 F HEE
OFEXEHR HEEUESE
(OF 13 ={=% ) HICE# =1EtinES
OHY—EXRRX% TAY—ERtE 45—
BERE | w78 (wEEvEE|  #E =
<BEFHKBZUIE>
<URA>
NHERREBERA 30,889,000 30,039,000 850,000
BENERUNA (T FEHBNUA) 25,368,000 24,966,000 402,000
I EEFRBNUR A 19,807,000 19,465,000 342,000
N EEFBhFRENUR A 5,561,000 5,501,000 60,000
BENERIRA (FIAEGIEBEEIIA) 2,820,000 2,776,000 44,000
NEEHEERA(LE) 1,000 1,000 0
NEAERIRA (—#) 2,201,000 2,163,000 38,000
NEFHEEBEENRA(LE) 1,000 1,000 0
NEEFHEIEBEEIA (—H) 617,000 611,000 6,000
FIAEEF RARIRA 2,698,000 2,295,000 403,000
BEIA (—H%) 2,698,000 2,295,000 403,000
ZTDMDEZEIA 3,000 2,000 1,000
FHENEEEIA 1,000 0 1,000 |E. E#H£
TORDERINA 2,000 2,000 O
EERAY—EREEBZRA 2,000 2,000 0
B XERAEIRA 1,000 1,000 0
IR AT EIRA 1,000 1,000 0
FAEGESIRA 1,000 1,000 0
Z DD ULA 1,000 1,000 0
HEURA 1,000 1,000 0
BEFERIRAG(1) 30,892,000 30,042,000 850,000
<ZH>
AEEZH 22,710,000 22,736,000 A 26,000
i B e 13,217,000 13,807,000 A 590,000 |#% - #F L%
BMEEEXH 3,140,000 2,847,000 293,000 |#5% - #fF 4, BRI FL
FEEHBEIRE 3,598,000 3,240,000 358,000|/{— EEES
EERAEXH 2,755,000 2,842,000 A 87,000 |42 R - SERIEH
EBXEXMNH 8,417,000 7,697,000 720,000
HWREXH 2,893,000 2,803,000 90,000 |fa B H ¥ &
NEAREXH 48,000 48,000 0
REFLEEXZH 79,000 72,000 7,000 |34 3= it
BEREEXH 221,000 256,000 A 35,000|1TEHE
KBS EKE T H 1,563,000 1,619,000 A 56,000|E5 8. KEH
PRFLE S H 1,057,000 874,000 183,000|F0/8vH R, AE#
HERERFSREXH 68,000 175000 A 107,000|LvA&%
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THeEE

BN XY 9 FHRE

OFEXEHR HEEUESE
(OF 13 ={=% ) HICE# =1EtinES
OHY—EXRRX% TAY—ERtE 45—

EERB LYFHEE MEETESE 1R e
fRIEH X H 32,000 101,000 A 69,000 |5 R ORI
BEEHXH 1,181,000 359,000 822,000 |28, nis 27 Ly—2 e
HEREXH 1,270,000 1,375,000 A 105,000 |SEmm:usE- g Ems
HXH 5,000 15,000 A 10,000 |5} S ekEmIR &S

EHEXH 1,614,000 1,552,000 62,000
BHELEEXH 132,000 117,000 15,000 |22 %
M EHARE X H 27,000 24,000 3,000
THEHREX H 59,000 51,000 8,000 |#HE 2
ERHEREIE 312,000 286,000 26,000(E%- EEAR
BEEXZH 100,000 100,000 O|rEskisEE
BIEEREXH 141,000 88,000 53,000 |#% & 5% - BE
EBRAEXH 489,000 489,000 OEazneEs
FHEH X 197,000 204,000 A 7,000[#%-PoikEH %
HHRARXH 2,000 38,000 A 36,000\ \2REEHZ
RFHZH 106,000 106,000 0|2BHARF AR
HEBXH 49,000 49,000 O|ET 1 HisasEE
FREREREE 30,000 30,000 0
FAREEEZHEE 30,000 30,000 0 [tamisAnme amen
BETEXHE(2) 32,771,000 32,015,000 756,000
EXTEHESINIEZE(I)=>1)—(2) A 1,879,000( A 1,973,000 94,000
<MBREHFICLDHINE>
<URA>
TEER R FUNAET (4) 0 0 0
<ZH>
T7AFT VR —REHEDREXZ L 903,000 1,857,000 A 954,000
T7AFT VR —REHEDREFXH 903,000 1,857,000 A 954,000|E@I7 4+ 2-—R14
TEER R E X HET (B) 903,000 1,857,000 A 954,000
B REELINZEL(6)=(4)—(5) A 903,000] A 1,857,000 954,000
<ZFDMDEENZLDHINZ >
<URA>
H—EXR S HEEASIRA 3,000,000 3,000,000
Y—EXRSHBASIRA 3,000,000 3,000,000
Z DD EBURAET(7) 3,000,000 3,000,000
<ZH>
HBiI&EEXH 494,000 455,000 39,000
BRI NEESH 494,000 455,000 39,000 | BRIt FLER ST L2
ZTDMDFEEZHET(8) 494,000 455,000 39,000
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THeEE

BN XY 9 FHRE

OFEXEHR HEEUESE
(OF 13 ={=% ) HICE# =1EtinES
OHY—EXRRX% TAY—ERtE 45—

EERB LYFHEE MEETESE 1R e
ZTOMDFHESINZELE(9)=(7)—(8) 2,506,000 A 455,000 2,961,000
FliEESH (10) 0 0 0
LEESINTELE AT (1) =(3)+(6) + (9) — (10) A 276,000 A 4,285,000 4,009,000
ARV EE®TES (12) 4,033,103 5990,499| A 1,957,396 |a1FE&EME
LEIRZIERES (11)+(12) 3,757,103 1,705,499 2,051,604 | R FERHE
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SHEEE B &2 WM X A8 9 F HEE
OFEXEHR HEEUESE
(OF 3 ={=%, ) HICE# =1EtinES
OHY—EXRRX% [EEEUY—EREE
BERE | “o7eeE (mEErEE|  BE =
<BEFENLDWMEZ>
<URA>
EERAY—EREEBZRA 911,000 776,000 135,000
B XERAEIRA 892,000 765,000 127,000
NEERBTEIRA 892,000 765,000 127,000
FAEEESIA 1,000 1,000 0
FIAEEF RARURA 18,000 10,000 8,000
Z DD FFAFIRA 18,000 10,000 8,000 | % {858 % ¥ FA %
BEFERIRAG(1) 911,000 776,000 135,000
<ZH>
AGEXH 1,023,000 933,000 90,000
i B e 690,000 600,000 90,000 [#%. EF X
BMEEEXH 150,000 150,000 Ol -EF X
FEEEBEIRE 100,000 100,000 0|/ \—+rBEES
EERAEXH 83,000 83,000 0|t 2RI, HBEmE
EBXEXMWH 135,000 135,000 0
BEfEMZH 95,000 95,000 O|&=my—R%
BHEREH 40,000 40,000 O| =M. K E
EREXMWH 32,000 32,000 0
EBHEREXH 15,000 15,000 0
FEMZH 17,000 17,000 0
EXFHPXHE(2) 1,190,000 1,100,000 90,000
EXEHESINZEZE(I)=(1)—(2) A 279,000 A 324,000 45,000
<MBEREHFICLDINE>
<UXA>
EEHEFINAG(4) 0 0 0
<Z>
HEHEEXHE(5) 0 0 0
B HEEEEINEELE(6)=(4)—(5) 0 0 0
<ZTDMDEENLDHIRZ >
<UXA>
H—ERARHEBRAZIRA 279,000 324,000 A 45,000
H—ERRSEBRAZIRA 279,000 324,000 A 4500057 C2AT R
ZTDMDFENRAET (7) 279,000 324,000 A 45,000
<ZH>
ZTDDFEBNZ HE (8) 0 0 0
ZTOMDFHERINZEZE(9)=(7)—(8) 279,000 324,000 A 45,000
FlRESH (10) 0 0 0
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SH6EE E 2N XL 0 FEE

OFEXEHR HEEUESE
(OF 3 ={=%, ) HICE# =1EtinES
OHY—EXRRX% [EEEUY—EREE
EERB LYFPHEE |MEETESE 1R e
LEERHUINKEESE(11)=(3)+(6) +(9) — (10) 0
ARV EE®TES (12) 0
ZEIRILNERES (11)+(12) 0
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THEEE B & WM X[ 0F F &

OF%£R%y HHtefEUEE
O R 5y HICH =B iRES
OHY—EXREHR BEXESEXE
BEHE | 4HPHE |MEETHE| #E =
<BEIFHKHINE>
<UXLA>
ZEEEUA 7,160,000 8,751,000/ A 1,591,000
THETHZEEURA 7,160,000 8,751,000 A 1,591,000
BIIEZEEIA 7,160,000 8,751,000| A 1,591,000(ErE%s
EXRFHIAG(1) 7,160,000 8,751,000| A 1,591,000
<XZH>
AEEZH 1,683,000 2,625,000 A 942,000
B B fa X 423,000 1,011,000 A 588,000|#%. #EF L%
BEES5XH 115,000 267,000) A 152,000|#i% - ghinF 4
EEEHBEHRE I H 1,000,000 1,114,000 A 114,000|/{—FBEES
EERAMNEIH 145,000 233,000 A 88,000|#t2®mgH. HmiRBH
BEXEXH 1,363,000 1,357,000 6,000
SfEMxH 792,000 792,000 0
HEREXH 571,000 565,000 6,000 | =K &%
EHREXM 193,000 193,000 0
BHELEEXH 29,000 44,000 A 15,000 @i
THEHREX H 10,000 10,000 o|FEE
ERHEREIE 80,000 65,000 15,000
BEEREX N 54,000 54,000 O|BEHS
FHHZH 20,000 20,000 1] -t
BETEXHE(2) 3,239,000 4175000 A 936,000
EXTEHESINZEZE(I)=>1)—(2) 3,921,000 4,576,000 A 655,000
<MERBMWEHFICLDINZ >
<URA>
TEER R FEURAET (4) 0 0 0
<ZH>
MR B HEE X HE (5)
AR HREERINEELE(6)=(4)—(5)
<ZFDMDEENZLDHINZ >
<URA>
Z DD EBURAET(7) 0 0 0
<ZH>
HBiI&EEXH 16,000 37,000 A 21,000
BEHATEI S EETH 16,000 37,000 A 21,000| RE#FLEHSE LS
Y—EXRSHEEASXZH 3,000,000 3,000,000 0
Y—EXRSHEBEASEIH 3,000,000 3,000,000 | EIN RN
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THEEE B & WM X[ 0F F &

OF%£R%y HHtefEUEE
O R 5y HICH =B iRES
OHY—EXREHR BEXESEXE
EERE LTFHEHE IEEFESE B e

|%0>11ﬂ0>5§§ﬂ§&§+<8> 3,016,000 3,037,000 A 21,000
ZTOMDFHERINZEZE(9)=(7)—(8) A 3,016,000 A 3,037,000 21,000
FlRESH (10) 0 0 0
LHELUINKEZFESE (1) =(3) +(6) + (9) — (10) 905,000 1,539,000 A 634,000
ARSI EEES (12) 4,185,305 2,774,838 1,410,467 |fTEE#ME
LHARZINERER (11)+(12) 5,090,305 4,313,838 776,467 | REERBE
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SHEEE B &2 WM X A8 9 F HEE
OFEXEHR HEEUESE
(OF 13 ={=% ) HICE# =1EtinES
OH—ERRESR BENMEXEREX
BERE | w78 (wEEvEE|  #E =
<BEFHKBZUIE>
<URA>
NHERREBERA 9,164,000 9,234,000 A 70,000
BENEIENEHIA 9,045,000 9,116,000 A 71,000
FBENEIIENERIA 9,045,000 9,116,000 A 71,000
ZTDMDEZEIA 119,000 118,000 1,000
FHENEEEIA 1,000 0 1,000|E - E#B£
SEBEIA 118,000 118,000 O|NERERERAR
ZDHDULA 1,000 1,000 0
HEURA 1,000 1,000 0
EEFHIRAG(1) 9,165,000 9,235,000 A 70,000
<ZH>
AEEZH 10,484,000 10,404,000 80,000
i B e 7,011,000 7,015,000 A 4000 (% HF L%
BEESXH 2,004,000 1,854,000 150,000 | B - S F 4
EERAEXH 1,469,000 1,535,000 A 66,000 |2 RIH. HEERH
EXEXMH 1,150,000 756,000 394,000
HERERSREXH 1,000 1,000 0
fREEH S H 164,000 133,000 31,000 |=MmRES
BEfEMZH 352,000 352,000 O| NS RT L
HEEXH 633,000 270,000 363,000 |EmBHES
EREXMWH 343,000 307,000 36,000
BEIEEEXEN 39,000 38,000 1,000 |2
THEMRE 15,000 30,000 A 15,000 |62
EBHEREH 57,000 47,000 10,000
BIEERE N 135,000 135,000 0|EiE- 5% BEH
FHHXH 74,000 55,000 19,000 (% & F 1%
AHRARXH 23,000 2,000 21,000 [EN#ft
EXFHPXHE(2) 11,977,000 11,467,000 510,000
EXEHESINZEZE(I)=>1)—(2) A 2812000 A 2232000, A 580,000
<MBEREHFICLDHINE>
<URA>
MEER B mFEUINAGT (4) 0 0 0
<XZH>
HEEEXHE(5)

EREHRFEEINIELE(6)=(4)—(5)

<ZEDMDFRICEHINZ >
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SH6EE FE 2N XL 0 FEE

OFEXEHR HEEUESE
O R X5y HICE# =1EtinES
OH—ERRESR BENMEXEREX
BERE | “ppHE |EErEE] ®mR | #E
<URA>
HIIEERARIRA 2,000,000 2,000,000 0
EEASEIEENEIA 2,000,000 2,000,000 0| B EeHILMBINA
H—EXR S HEEASIA 1,000,000 0 1,000,000
Y—E AR RHEASIA 1,000,000 0|  1.000000AfSEFREFMS
T DD FBIRAG (7) 3,000,000 2,000,000 1,000,000
<ZH>
HBiIEEXH 255,000 249,000 6,000
REBIR I A EERH 255,000 249,000 6,000| RMstFLEBS 4
ZTDMDFEEZHET(8) 255,000 249,000 6,000
ZTOMDFHESINZEZE(9)=(7)—(8) 2,745,000 1,751,000 994,000
FliEESH (10) 0 0 0
LEIE UK EESE(11)=(3) + (6) +(9) — (10) A 67,000 A 481,000 414,000
ARV EE®TEZS (12) 948,908 577,067 371,841 |fEERBE
LEIRZILERES (11)+(12) 881,908 96,067 785,841 | REERBE
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SHEEE B &2 WM X A8 9 F HEE
OFEXEHR HEEUESE
(OF 13 ={=% ) HICE# =1EtinES
OHY—EXRRX% BETK OKYEETEEESH
BERE | w78 (wEEvEE|  #E =
<BEFENLDWMEZ>
<URA>
ZEEEIA 45,242,000 42,199,000 3,043,000
TET#T ZEEEURA 45,242,000 42,199,000 3,043,000
BETSROKYEZIESIA 45,242,000 42,199,000 3,043,000 |t EEERN
EBEUA 300,000 500,000/ A 200,000
FI AR A 300,000 500,000 A 200,000 |5 A%+
BEFERIRAG(1) 45,542,000 42,699,000 2,843,000
<ZH>
AGEXH 2,231,000 2,193,000 38,000
i B e 1,445,000 1,766,000/ A 321,000(##-#F 4%
BMEEE 458,000 80,000 378,000 |47 F &
EERAEXN 328,000 347,000 A 19,000 |2 RBH. HBRRE
EEXEXH 16,993,000 15,441,000 1,552,000
KBS EKE T H 8,281,000 9,143,000 A 862,000|B&H. kit
PRFLE S H 8,502,000 6,088,000 2,414,000 [AE:8. vy, Bim%
HERERSEXH 150,000 150,000 0|k, Ism%
BEfEMZH 60,000 60,000 0|laE—#
EHEXH 26,244,000 24,991,000 1,253,000
BEIEEEXEN 16,000 18,000 A 2,000|@H%
EBHEREH 207,000 195,000 12,000
BREEH 300,000 300,000 0
BIEERE N 94,000 94,000 0|k E#
ESCEH b 22,029,000 20737000 1,292,000 ERFERR BRE
FEMZH 63,000 63,000 O|OEEIRE FHHZ
AHRARXH 900,000 900,000 o4 &R
RSPHH 2,635,000 2,684,000 A 49,000[5 5 2T TRE
EXFHPXHE(2) 45468,000( 42,625,000 2,843,000
EXEHESINZEZE(I)=(1)—(2) 74,000 74,000 0
<MBEREHFICLDINE>
<URA>
EEHEFINAG(4) 0 0 0
<Z>
e B RE X HET () 0 0 0
B HEEEEINEELE(6)=(4)—(5) 0 0 0

<

ZDMDEICLDHIN >

<UZA>
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THeEE

BN XY 9 FHRE

OFEXEHR HEEUESE
(OF 13 ={=% ) ==p:y e g b
OHY—EXRRX% BEITSOKYEBSEEESE
EERB LYFHEE MEETESE 1R e
T DD FBRAG (7) 0 0 0
<ZH>
HBiIEEXH 74,000 74,000 0
REBIR I A EERH 74,000 74,000 0| EmstEaEmes ue

ZTDMDFEEZHET(8) 74,000 74,000 0
ZDMDESNEEUNZEEE(9)=(7)—(8) A 74,000 A 74,000 0
FliEESH (10) 0 0 0
LEIERHUINKEESE(11)=(3) +(6) +(9) — (10) 0 0 0
ARV EE®TEZS (12) 306,335 52,981 253,354
LEIRIIERES (11)+(12) 306,335 52,981 253,354
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SHEEE B &2 WM X A8 9 F HEE
OFEXEHR HEEUESE
(OF 13 ={=% ) HICE# =1EtinES
OHY—EXRRX% XIERREEEEEEE
BERE | w78 (wEEvEE|  #E =
<BEFHKBZUIE>
<URA>
ZEEEIA 19,984,000 19,237,000 747,000
TET#T ZEEEURA 19,984,000 19,237,000 747,000
XAERREEZFEEUA 19,237,000 19,237,000 OlfeEEmERY
EBEUA 600,000 600,000 0
FIFAFHRA 600,000 600,000 0|fsE A
EEFHIAG(1) 20,584,000/ 19,837,000 747,000
<ZH>
AEEZH 2,231,000 1,627,000 604,000
i B e 1,445,000 1,349,000 96,000 |#%
BMEEE 458,000 0 458,000
EERAEXH 328,000 278,000 50,000 | £ RBH. #@RRE
EEXEXH 6,788,000 7,162,000 A 374,000
KBS EKE T H 3,906,000 5,077,000 A 1,171,000|B&%. ki
PRFLE S H 2,721,000 1,924,000 797,000 (A, 8%
HERERFSREXH 85,000 85,000 O|F L ybR—/R—%
BEfEMZH 76,000 76,000 0|aE—#. vk
EHEXH 11,565,000 11,048,000 517,000
EBHEREXH 120,000 108,000 12,000
BREEH 500,000 500,000 0
BIEEREX N 36,000 34,000 2,000|EEEH. IFH
ESCEH b 8,071,000 7,874,000 197,000 EREZRE, SR&
FEMZH 24,000 24,000 0| O EEiRE F 40
AHRARXH 200,000 200,000 o4 &R
R 2,614000| 2,308,000 306,000|f AEE K177 X
EXFHPXHE(2) 20,584,000 19,837,000 747,000
EXEHESINZEZE(I)=>1)—(2) 0 0 0
<MBEREHFICLDHINE>
<URA>
MEER B mFEUINAGT (4) 0 0 0
<XZH>
HEEEXHE(5)
MR HEEEEINEEL(6)=(4)—(5)
<ZTDMDEENLDHIRZ >
<URA>
T DD FEBIRAGH (7) 0 0 0
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SH6EE FE 2N XL 0 FEE

OF%RXHn HERUEE
O} J=1=%) HIZHTH SEHUHRES
OY—ERR%H MR REEEEEEE

BERE | 78 [EETEE|

1R

5%

<X%H>

ZTOMOFEEHET(8)

ZFOMDFEHELINTEZE(9)=(7)—(8)

FliEEXZH(10)

0
0
0
0

LB SN ELEAE (1) =(3)+(6) +(9) — (10)

0
0
0
0

=l K=l K=2K=]

IR ESES (12) 251,336

195,213

56,123

LRI ERTES (11)+(12) 251,336

195,213

56,123
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FH6EE HRIIUMFERARE (F—ERXRZH)

OFXRX%n HEBEUEE
O R 5 MEER T EEE X
F—EXRS
EER B %f‘iéé}fﬁ% P —— Bit4E -
<BEIFIHICLIRZ>
<UXA>
NEERIEEEIA 133,927,000 7,445,000 141,372,000
ZHFRERAEIA 1,000 0 1,000
ZDHDUXA 1,169,000 0 1,169,000
BXEFEBURAG (1) 135,097,000 7,445,000 142,542,000
<XZH>
AGEXH 78,116,000 8,677,000 86,793,000
EXEXN 22,680,000 2,015,000 24,695,000
EHEXN 25,539,000 2,709,000 28,248,000
FRERIBEREE 500,000 1,000 501,000
=E Ry 990,000 0 990,000
ZTODZH 880,000 0 880,000
EBXTEBIZHE(2) 128,705,000 13,402,000| 142,107,000
EXTHELIWMIEZE(3)=(1)—(2) 6,392,000( A 5,957,000 435,000
<MBEREHEFIZLDINEZ>
<UXA>
BREHEEIRAG(4) 0 0 0
<XZH>
EE & ERSXH
BEHEFEXHE()
B EREEEINKEL(6)=(4)—(5)
<ZEDMDFEEIZL DI >
<UXA>
| 4—EXRSRBASIA 6,100000] 6,100,000
ZDHDEBIRAET(7) 6,100,000 6,100,000
<XZH>
BIEEXH 1,538,000 170,000 1,708,000
Y—EARSERAEZH 6,100,000 0 6,100,000
ZTDDFEBXHET(8) 7,638,000 170,000 7,808,000
ZTOMDEENEELINZEE(9)=(7)—(8) A 7,638,000 5,930,000/ A 1,708,000
FiHwEI L (10) 0 0 0
LHESINKZREAE (1) =(3) +(6) + (9) — (10) A 1,246,000 A 27,000( A 1,273,000
AEARXILNEREE (12) 1,545,525 93,484 1,639,009
LERIIESES (11)+(12) 299,525 66,484 366,009
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SH6EE HE 2 W X H 9 FEE
OFEXEHR HEEUESE
(OF 13 ={=% ) MEERTEEE X
OHY—EXRRX% NEEZABUERFFAADR
BERE | “o7eeE (mEErEE|  #E =
<BEFHKBZUIE>
<URA>
NHERREBERA 133,927,000( 138,184,000 A 4,257,000
Hhigi 2 75 B A FERHIRA 85,886,000( 85,886,000 0
I EEFRBNUR A 77,342,000 77,342,000 0
FAERHESIRA(LNE) 260,000 260,000 0
FRAESESIA (—H) 8,284,000 8,284,000 0
FIAEEF RARIRA 21,624,000 21,624,000 0
BERA(AE) 110,000 110,000 0
BEIA (—H%) 8,265,000 8,265,000 0
BEIRA BE) 4,612,000 4,612,000 0
BEERA(AE) 1,000 1,000 0
BEBEIA (—#%) 5,626,000 5,626,000 0
FBEEIRA (HE) 2,710,000 2,710,000 0
Z DD FFAFIRA 300,000 300,000 0
ZTDMDEZEIA 26,417,000 30,674,000 A 4,257,000
FHENEERIA 1,000 0 1,000
SEBEIA 26,413,000 30,671,000 A 4,258000|BTZ5E%
GILEIETE=E 3N 1,000 1,000 0
ZTDMDEZEIA 2,000 2,000 0
SMASELSEIRA 1,000 1,000 0
SZERF SR BEINA 1,000 1,000 0
ZDHDYRA 1,169,000 888,000 281,000
ZATHEEIRA 1,000 0 1,000
FAEENEBEIA 880,000 600,000 280,000
HEURA 288,000 288,000 0
BEFEIRAG(1) 135,097,000 139,073,000 A 3,976,000
<ZH>
AEEZH 78,116,000 82,177,000 A 4,061,000
i B e 53,892,000 59,549,000/ A 5,657,000(#% -#EF L%
BEES5XH 7,794,000 6,534,000 1,260,000 |#5% - B8 F 24, 451 F 2
FEHBEREXH 6,664,000 5,525,000 1,139,000/ s — B EE£
EERHNE 9,766,000 10,569,000 A 803,000 12 RIH. HEREH
BEXEXH 22,680,000/ 21,951,000 729,000
HREXH 7,851,000 6,783,000 1,068,000 | &4t 4 &
NEAREXEH 2,814,000 2,008,000 806,000
REGEEXEN 270,000 270,000 e
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SH6EE HE 2 W X H 9 FEE
OFEXEHR HEEUESE
(OF 13 ={=% ) MEERTEEE X
OHY—EXRRX% NEEZABUERFFAADR
EERB LYFPHEE |EETELE 1R e
BEBREEXH 100,000 100,000 O|iT=HE
FKENEKE R H 5,497,000 6,091,000 A 594,000(B&#. kit
PRFE X H 3,580,000 4,742,000 A 1,162,000{F0/80H R, AEH
HERERREXIH 342,000 353,000 A 11,000 |55 R &S
fRIEH X H 128,000 106,000 22,000 =7 - FEERRIR
EiEH R 1,752,000 1,298,000 454,000 | = TEZATA
HEREXH 336,000 190,000 146,000 |#A% - EFEAE RS
M H 10,000 10,000 0
EHREXMN 25,539,000 24,883,000 656,000
BHELEEXH 579,000 470,000 109,000 |@3%
HEHARE X H 81,000 90,000 A 9,000
REXBEXH 32,000 41,000 A 9,000|ERFHES
THEHREX H 36,000 20,000 16,000 |#HE &
EREHREREH 427,000 360,000 67,000|=%- €EHS
BEEXH 315,000 270,000 45,000
BIEEREXH 169,000 163,000 6,000 |E 54, BEHR
REBEXH 0 3,000 A 3000|8850
EBRAEXH 22,507,000 22,028,000 479,000|/ERELEESE
FHMH 449,000 387,000 62,000(% %, BEARE
T EHEEHIE 492,000 660,000 A 168,000( L HHEREE
HHRARXH 11,000 0 11,000
RFHZH 248,000 245,000 3,000|h REHRT L%
B E I H 20,000 41,000 A 21,000|%8 8%
HEBXH 163,000 95,000 68,000 |1 HRES
M H 10,000 10,000 0
FREREREE 500,000 299,000 201,000
FIREAESRHE 500,000 299,000 201,000} S EUELARER
BEEXH 990,000 1,139,000 A 149,000
BEEXH 990,000 11390000 A 149,000 |25 BIERE LS
ZTDMDZH 880,000 600,000 280,000
FAEENEREXH 880,000 600,000 280,000
BETEXHE(2) 128,705,000 131,049,000 A 2,344,000
EXTEHESINZEZE(I)=>1)—(2) 6,392,000 8,024,000| A 1,632,000
<MEREHFICLDHINE>
<URA>
TEER R FEUIRAET (4) 0 0 0
<ZH>
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SHEEE B &2 WM X A8 9 F HEE
OFEXEHR HEEUESE
(OF 13 ={=% ) MEERTEEE X
OHY—EXRRX% NEEZABUERFFAADR
EERB LYFPHEE |EETELE 1R e
ElE & ERSEXH 0 0 0
FHERU EMERGEXEH 0 0 O|PCEEAZ
TEER B E X HET (B) 0 0 0
MR EREELINZEL(6)=(4)—(5) 0 0 0
<ZFDMDEENZLDHINZ >
<URA>
T DD FBNRAG (7) 0 0 0
<ZH>
HBiI&EEXH 1,538,000 1,153,000 385,000
BREHRMAEIHEERS 1,538,000 1,153,000 385,000 | BRI HLBHES 4e
H—EXRSHEEAEZH 6,100,000 0 6,100,000
Y—EARDHERAEZH 6,100,000 0 6,100,000
ZTDMDFEEZHET(8) 7,638,000 1,153,000 6,485,000
ZTOMDFHESINZTEZE(9)=(7)—(8) A 7,638,000 A 1,153,000 A 6,485,000
FliEESH (10) 0 0 0
LEERHUNKEESE(11)=(3)+(6) +(9) — (10) A 1,246,000 6,871,000/ A 8,117,000
ARV EE®TEZS (12) 1,545,525 7,225971 A 5,680,446 |f1EERHE
LEIRIIERES (11)+(12) 299,525 14,096,971 A 13,797,446 | R FE##HE
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SH6EE HE 2 W X H 9 FEE
OFEXEHR HEEUESE
(OF 13 ={=% ) MEERTEEE X
OHY—EXRRX% NEZANGBURRFZEAADREHAAREEMN
BERE | “o7eeE (mEErEE|  #E =
<BEFHKBZUIE>
<URA>
NHERREBERA 7,445,000 7,444,000 1,000
BENERUNA (T FEHBNUA) 5,351,000 5,351,000 0
I EEFRBNUR A 5,350,000 5,350,000 0
N EEFBhFRENUR A 1,000 1,000 0
BENERIRA (FIAEGIEBEEIIA) 605,000 605,000 0
NEEHEERA(LE) 1,000 1,000 0
NEAERIRA (—#) 602,000 602,000 0
NEFHEEBEENRA(LE) 1,000 1,000 0
NEEFHEIEBEEIA (—H) 1,000 1,000 0
FIAEEF RARIRA 1,488,000 1,487,000 1,000
BERA(AE) 1,000 1,000 0
BEIA (—H%) 820,000 820,000 0
BEIRABE) 33,000 33,000 0
BEERA(AE) 1,000 1,000 0
BEBEIA (—#%) 603,000 603,000 0
FBEEIRA (HE) 29,000 29,000 0
Z DD F AR A 1,000 0 1,000
ZTDMDEZEIA 1,000 1,000 0
ZTOMDEZEIA 1,000 1,000 0
EEFHIAG(1) 7,445,000 7,444,000 1,000
<ZH>
AEEZH 8,677,000 9,124,000 A 447,000
i B e 5,987,000 6,612,000 A 625000[% - -HFL%
BEES5XH 866,000 726,000 140,000 |85 S F & BHF S
FEHBEREXH 739,000 612,000 127,000|/s— BB ES
EEENE 1,085,000 1,174,000 A 89,000 |4t & EiH. HBRRH
BEXEXH 2,015,000 2,400,000| A 385,000
HREXH 420,000 753,000] A 333,000|&#i%&
NEAREXEH 276,000 212,000 64,000
REGEEXEN 30,000 30,000 e
FKENEKE R H 610,000 675,000 A 65,000|ESH. KEH
PR E S H 397,000 527,000 A 130,000{F0/fvH R, AEH
HERERREXIH 38,000 39,000 A 1,000 |#E5% A % &
fRIEH X H 14,000 11,000 3,000 | =7l - SRR IR
EiEH X 194,000 143,000 51,000 £ 7 TEZATA
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SH6EE HE 2 W X H 9 FEE
OFEXEHR HEEUESE
(OF 13 ={=% ) MEERTEEE X
OHY—EXRRX% NEZANGBURRFZEAADREHAAREEMN
EERB LYFPHEE |EETELE 1R e
HEREXH 36,000 10,000 26,000 |4k - EFLEFE RS
EHREXMN 2,709,000 2,662,000 47,000
BHELEEXH 59,000 50,000 9,000|@%
HEHARE X H 9,000 10,000 A 1,000
ERHEEREIE 48,000 40,000 8,000|=%# - EEAR
BEEXH 35,000 30,000 5,000
BIEEREXH 17,000 17,000 O|EEH. BEH
EBRAEXH 2,499,000 2,447,000 52,000 |/ R L EESE
FEHMETH 15,000 42,000 A 270008, BEEZ
RPRX 27,000 26,000 1,000(sh RESIRS RT L%
FIRE SRR 1,000 1000 Ofcig — oas
FIRE QPR RLE 1,000 1,000 0 Iég;@ﬂtifA*llﬁﬁ%‘ﬁ
BETEXHE(2) 13,402,000 14,187,000 A 785,000
EXTEHESINIEZE(I)=>1)—(2) A 5957,000[ A 6,743,000 786,000
<MBREHFICLDHINE>
<URA>
TEER R FEUIRAET (4) 0 0 0
<ZH>
TEER R E X HET (B)
MR BFEEERINZEE(6)=(4)—(5)
<ZFDMDEENZLDHINZ >
<URA>
H—EXR S HEEASIA 6,100,000 6,100,000
Y—EXRSHEBASIRA 6,100,000 6,100,000
Z DD EBUAET(7) 6,100,000 6,100,000
<ZH>
HBiI&EEXH 170,000 128,000 42,000
BRI NEESH 170,000 128,000 42 000| RE#FLSEBETI 8
ZTOMDFEBZ HE(8) 170,000 128,000 42,000
ZTOMDFHESINZEZE(9)=(7)—(8) 5,930,000 A 128,000 6,058,000
FliEESH (10) 0 0 0
LEEHUINETEESE(11)=(3)+(6) +(9) — (10) A 27,000 A 6,871,000 6,844,000
ARV EE®TEZS (12) 93,484 432 93,052 s ERME
LEIRIIERES (11)+(12) 66,484| A 6,870,568 6,937,052 | R EFERHE
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SHeEE ESNIUNTEANRE (H—EXREHSH)
OF%£K57 @i EE
E1:W$i%ﬁ#ﬁ1ﬁ§%%%% = MEE% S E§$¥1&£ﬁ( )
| —E XA K 7 A —E XA K B P s HREELK
RS EAEEEE | #RAFLER Eﬁ’g%ﬁﬁ i Ef;’;f’“z TR |E§§*¢*_E| BURESE Egﬁ%ﬁi% gy (Sl W%ﬂm%liﬁ£| wat (TEEMELE ﬁm)\ﬁﬁ$s§ﬁﬁ| BB | g AEE|PERSIAR T e)
<BEFHICLDIEZ>
<JZA>
KEIA 1,932,000 0 0 0 0 0 0 0 0 0 0 0 1,932,000 0 0 0 0 1,932,000 0 1,932,000
EIETVON 1,000 0 0 0 0 0 0 0 0 0 0 0 1,000 0 0 0 0 1,000 0 1,000
BERBEHEPSIA 10,106,000 1,817,000 0 0 0 0 0 0 0 0 0 0 11,923,000 0 0 0 0 11,923,000 0 11,923,000
SEHLSIWA 6,247,000 0 74,000 0 0 0 0 7,160,000 0 45,242,000 19,984,000 0 78,707,000 0 0 0 0 78,707,000 0 78,707,000
BBERA 0 0 0 1,000,000 0 0 0 0 0 0 0 0 1,000,000 0 0 0 0 1,000,000 0 1,000,000
BRILA 67,000 0 0 0 0 0 0 0 0 300,000 600,000 0 967,000 0 0 0 0 967,000 0 967,000
NERREFENRA 0 0 0 0 16,191,000 30,889,000 0 0 9,164,000 0 0 0 56,244,000 133,927,000 7,445,000 0| 141,372,000/ 197,616,000 0 197,616,000
BEREIY—EXEEEIA 0 0 0 0 0 2,000 911,000 0 0 0 0 0 913,000 0 0 0 0 913,000 0 913,000
L3 EISIEEEIVON 10,000 0 0 1,000 0 0 0 0 0 0 0 0 11,000 1,000 0 0 1,000 12,000 0 12,000
ZDHDIXA 58,000 0 0 0 0 1,000 0 0 1,000 0 0 0 60,000 1,169,000 0 0 1,169,000 1,229,000 0 1,229,000
BEFHAG () 18,421,000 1,817,000 74,000 1,001,000 16,191,000 30,892,000 911,000 7,160,000 9,165,000 45,542,000 20,584,000 0 151,758,000| 135,097,000 7,445,000 0| 142,542,000 294,300,000 0 294,300,000
<ZH>
AGEEXH 9,814,000 0 0 0 13,677,000 22,710,000 1,023,000 1,683,000 10,484,000 2,231,000 2,231,000 0 63,853,000 78,116,000 8,677,000 0 86,793,000 150,646,000 0 150,646,000
BEEXH 1,231,000 147,000 0 0 1,421,000 8,417,000 135,000 1,363,000 1,150,000 16,993,000 6,788,000 0 37,645,000 22,680,000 2,015,000 0 24,695,000 62,340,000 0 62,340,000
EHEXH 4,010,000 670,000 74,000 0 501,000 1,614,000 32,000 193,000 343,000 26,244,000 11,565,000 0 45,246,000 25,539,000 2,709,000 0 28,248,000 73,494,000 0 73,494,000
FAEGEREE 0 0 0 0 10,000 30,000 0 0 0 0 0 0 40,000 500,000 1,000 0 501,000 541,000 0 541,000
BtEEXH 0 0 0 1,000,000 0 0 0 0 0 0 0 0 1,000,000 0 0 0 0 1,000,000 0 1,000,000
MBS I 375,000 1,000,000 0 0 0 0 0 0 0 0 0 0 1,375,000 0 0 0 0 1,375,000 0 1,375,000
=Fik S 15,000 0 0 0 0 0 0 0 0 0 0 0 15,000 990,000 0 0 990,000 1,005,000 0 1,005,000
FTHFAZH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ZTDHDRZH 0 0 0 0 0 0 0 0 0 0 0 0 0 880,000 0 0 880,000 880,000 0 880,000
BEFHIHE(2) 15,445,000 1,817,000 74,000 1,000,000 15,609,000 32,771,000 1,190,000 3,239,000 11,977,000 45,468,000 20,584,000 0 149,174,000| 128,705,000 13,402,000 0| 142,107,000 291,281,000 0 291,281,000
BXFHESNIZEEB)=>1)—(2) 2,976,000 0 0 1,000 582,000 A 1,879,000 A 279,000 3,921,000 A 2,812,000 74,000 0 0 2,584,000 6,392,000 A 5,957,000 0 435,000 3,019,000 0 3,019,000
<MEERBHZIZLINZ>
<JZA>
iR EA TG RSV ON 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
MR HEIAGT (4) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
<ZH>
T7AFT VR —REHEDORFEXH 0 0 0 0 903,000 0 0 0 0 0 903,000 0 0 0 903,000 0 903,000
MR HE T HET(5) 0 0 0 0 903,000 0 0 0 0 0 903,000 0 0 0 903,000 0 903,000
MEEREFEEELINTELE(6)=(4)—(5) 0 0 0 0 A 903,000 0 0 0 0 0 A 903,000 0 0 0 A 903,000 0 A 903,000
<ZEDMDFEHIZLDHNK>
<JZA>
M EERAIA 0 0 0 0 0 0 0 2,000,000 0 0 0 2,000,000 0 0 0 2,000,000 0 2,000,000
Y—EXRSEBALUA 3,000,000 0 0 0 3,000,000 279,000 0 1,000,000 0 0 0 7,279,000 0 6,100,000 6,100,000 13,379,000 0 13,379,000
ZDHOEEIRAET (7) 3,000,000 0 0 0 0 3,000,000 279,000 0 3,000,000 0 0 0 9,279,000 0 6,100,000 0 6,100,000 15,379,000 0 15,379,000
<ZH>
BUBEXH 1,158,000 0 0 0 303,000 494,000 0 16,000 255,000 74,000 0 0 2,300,000 1,538,000 170,000 0 1,708,000 4,008,000 0 4,008,000
Y—EXARSEBRAEIZH 4,000,000 0 0 0 279,000 0 0 3,000,000 0 0 0 0 7,279,000 6,100,000 0 0 6,100,000 13,379,000 0 13,379,000
ZOHOEEZHET (8) 5,158,000 0 0 0 582,000 494,000 0 3,016,000 255,000 74,000 0 0 9,579,000 7,638,000 170,000 0 7,808,000 17,387,000 0 17,387,000
ZTOMDESHERINZEZE(9) =(7)—(8) A 2,158,000 0 0 0 A 582,000 2,506,000 279,000| A 3,016,000 2,745,000 A 74,000 0 0 A 300,000 A 7,638,000 5,930,000 0| A 1,708,000/ A 2,008,000 0 A 2,008,000
FimEXH(10) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
LHESINZTEEAE (1) =(3)+(6) +(9) — (10) 818,000 0 0 1,000 0 A 276,000 0 905,000 A 67,000 0 0 0 1,381,000 A 1,246,000 A 27,000 0| A 1,273,000 108,000 0 108,000
AR ERES (12) 8,121,123 0 0 395,288 0 4,033,103 0 4,185,305 948,908 306,335 251,336 0 18,241,398 1,545,525 93,484 0 1,639,009 19,880,407 0 19,880,407
LEPRXILEEES(11)+(12) 8,939,123 0 0 396,288 0 3,757,103 0 5,090,305 881,908 306,335 251,336 0 19,622,398 299,525 66,484 0 366,009 19,988,407 0 19,988,407




